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Master of Arts (Economics) 1** Semester
(1129)
MACRO ECONOMICS-I (In All Mediums)
Paper : MAECO-102

Time Allowed : Three Hours] [Maximum Marks : 80

Note :— Attempt FIVE questions in all, including Question
No. 1 which is compulsory and selecting ONE question

from each Unit.

1. Answer any ten of the following in about 25-30 words

each :

(1) Full employment

(i1) Price rigidity

(ii1) Real wages

(iv) Fixed adjustment cost
(v) Random walk hypothesis

(vi) Induced investment
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(vii) Relative income hypothesis
(viii) Accelerator theory of investment
(ix) Multiplier
(x) Money
(xi) Liquidity trap
(xii) Determinants of monéy supply
(xiii) Baumol’s demand for money
(xiv) Shifting of LM curve
(xv) Credit creation.

UNIT—I

2.  Write a note on Keynesian approach to full employment
equilibrium. Why it is not automatic adjustment equilibrium ?

3. Critically evaluate the mechanical explanation of output and

employment determination under classical system.
UNIT—I

4. Write a note on Keynesian theory of consumption. What are the
subjective and objective determinants of consumption in

Keynesian theory ?

5.  Explain Permanent income hypothesis. How it is different from

life cycle hypothesis ?
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UNIT—III

6. Write a note on Keynesian theory of investment. What are the
determinants of investment beyond marginal efficiency of capital

and prospective yield discussed by Keynes ?

7. Write anote on Tobin’s Q theory of Investment. Is it a Keynesian
Theory ? Discuss.
UNIT—IV
8.  Ciritically examine theoretical and empirical attempts to define

money.

9. Write a note on Keynesian theory of demand for money.
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